Basic understanding of

Profit & Loss

Concept Lecture - 2
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If the cost price of an article is 80% of its
selling price, the profit % is:

fFt avq &1 ara Ao 39k ey
HeT FT 80% &, A FITST% A
a) 20% b) 22 - %

c) 24% \,efzs%




If there is a profit of 20% on the cost price
of an article, the percentage of profit

calculated on its selling price will be?
e fFdlt avq A awTT e W 20%
FT AT FT &, A 3UF RNET AT W

AT Y S T FTHY AT e
a) 24 vb‘)/lsg.66
¢) 8.33 d) 20




Mahesh purchased a radio at 2 of its selling
price and sold it at 8% more than its

S P original selling price. His gain per cent is:
100 A A f[ahd AT & 9/10 W TH
— \ A @dier 3ﬁ1 qH AT @FT 759 @
5 80 HfUF WX AT W WO Troerd
Zd 108 AT Hifo:
CP\J/{ SP \af20% b)18% <) 10%  d)8%
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A man gains 10% by selling a certain article
for a certain price. If he sells it at double the
price. then the profit made is:

T Afdd Rl arg # R @fRea
Hed T 8T T 10% @19 FAET ¥
I aF 39 Nt Hed WX d° &

?ﬁ % ST avrr?
120% b) 20%

c) 100% d) 80%
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A man purchased a bedsheet for Rs.450
and sold it at a gain of calculated on
the selling price. The selling price of the

bedsheet is

Tsh gfdd o 450 W&a;:ﬁfwa?ﬁﬁz
T AR S Aoa W AT FIG g
10%a:mq13'€airﬁml asefie Hy

hl Fed ATd HIfe:
m X475 W480 500
5o

e Yr.s 4y




CP= * p/=n. A clock was sold for Rs.144. If the percentage of
m was numerically equal to the cost price,
the cost of the clock was

lo+% ) = TF g 1,44 TOF H IO q7E| Ay A1 F
lov . ﬂ\/"’uﬁammwﬁmna?
T o1, @ g9 ) AN qeT AT PO

= 2% 1502 - Jm@=o 2|Rs.72 727 _KfRs.80+6U= juy
J c) Rs.90 d) Rs.100

o7 213




A merchant sold an article for Rs.75 at a
profit per cent equal to his cost price. The
cost price of the article is

T AR A YAl ARTT Hed & s{el
W%wwa'rcraﬁnm#aml
aFd T AR :n—zr AT HISA:

a) 45 50+125 c) 54 d) 60
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A merchant sold an article for Rs.112 at a
profit per cent equal to half his cost price. The
cost price of the article is

Th NN o A6l d6TT Aed & 39 &
WFITH%‘ITWWHFTIIZ 9 A
Wlmﬁmwmaﬁm
a) 40 b) 85 \,e)/so d) 60
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By selling an article for X131.25, a trader

1 ,(UO'D-I"(—) = M— _7@-;15‘ gains_as much _percent as the number
.J—D'Q;, <3 __@ representing the_cost price of the article.
Lo

In order to earn 40% profit, at what

2 R price (in X) should he sell the article?
0 - =0 .
T +100% ~LHRZ Y avq # x131.25 F ITHT, TH

. Wﬁm#mm*mﬁ
Y IS F ST Gfyerd & v e ¥ 40%
I5x7T _ o 9Ied A & AT, 3@ aw g #
P o5 AT W (X H) dga aRw?
105 b) 140
c) 100 d) 75
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A person selling an article for X 96
finds that his loss per cent is one-

QU0 - 6oy grs fourth of the amount of rupees that
Y he paid for the article. What can be

the cost price?
TF gfFd A Th I T I96 A

g W g F o3Edr g
I60 gfaerd 39 avqg & fav sprae
L‘Mq # qE AR F v s B
AT AT FT g1 Ahall 87
Only X160

§Only 3240,
Either 160 orX 240

d) Neither X 160 nor X 240

CcDS 11



A man buys an item at Rs.X, where ‘X’ is the
b two digit number and sells it at Rs.Y, Where
Y is also a two digit number obtained by
reversing the digits of X. If he gains 20% in
this transaction, find X?' ab ba
TH IFd F TH qF X § A @i,
UF &) I A e §, Y T A
A Yy W mEwm g Y X F I
ST 9o & Jel) §] 3R 3¥ 20%
AT 3T § al X Farsi?
Y)35° SH2uf45 BY ¢) 54
d) 68 e) 79

8 % of
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The profit earned after selling an article for
Rs.625 is the same as loss incurred after
selling the article for Rs.435. The cost price
of the article is:

Rs.625 & faT T avd & 99 & 9I¢
HFST o9, Rs.435 & faT awg & duat
a;amgtrmma;m%la%—craﬁr

AT Hod §:
a) Rs.520 vﬁﬁas.sso
c) Rs.540 d) Rs.550
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Anu sold an article for 480 at some profit.
Had she sold it for X400, then there would
have been a loss equal to one-third of the
initial profit. What was the cost price of the
article?

I A $S A W TF a&g FI 480 A
a1 afe 3Ee 3@ 2400 F a7 g, @
qifFs a7 & o fAge & SEY el
gIdT| aF] FT Hed AT FIT A1?

a) 450 b) 3430
c) X425 \9@420

| SSC CGL 2018 T-2 | 14
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The gain on selling an article at Rs.1060
is 20% more than the loss incurred on
elling it at Rs.950. In order to gain
he selling price will be:
T a&d H 1060 94 & d9d W
gt W 3/ 950 H dUd W g
grell gy & 20% 3’8F {1 20%
a1er & fAw, AT qew F41 e
a)Rs.1000 b) Rs.1080
Rs.1200 d) None of these




On selling an article for X123.40, the gain is

) 5 C,P 6 . 20% more than the amount of loss incurred
|0,8 17 “’5% | ;3,\40 on selling it for X108. If the article is sold for
X120.75, then what is the gain/loss per cent?
. w ~ el o= F T 123.40 F d=H W e
Zls:uv TS, 3#3108 H IR g ardll gy
-.4,\5\ T Wl F 20% 3’AF
15X -5 a) Gain 2.5% b) Loss 2.5%
/H’)(,k{ 5 c) Loss 5% Gain 5%
—57 15 3k
5

| SSC CGL 2019 T- 2 | 16
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If an article is sold at 62.55% of its current
selling price, there would béga If
sold at the current price, it would get a
profit of 2K%. Find the value of K?

I FS IFG I FAA BT qoT
® 62.5% U ¥AT AT §, af K% I
dHET g IS TR Hed WAt
ST &, Y 2K% T AT @M K I
AT AT Y

a) 20 b) 15

¢) 18.33 \#16.66




26 An article i sold at a certain price. If it is

33- % of this price, there is a loss of

— - What is the percentage profit when

cP E it is sold at 60% of the original selling price?
U IE] F P Aew W A= e

aﬁﬁmw*ssl% W &
Tiexa/ﬁui m%a’rss%aﬁrefrﬁraﬁ’r%luﬁ
Wﬁmﬁﬁm?ﬁo%ww

\?n% ar st ufdera F4T ¥
20

b) 30
1 1

| SSC CGL 2018 T-2 | 18



selling price is doubleﬂthe profit triples.
Find the profit percent. I~ B2 3%
1-:8P =P I BAeT F QAT A W T
efteT I B STar ¥ A e ar-m??

Sf_ 2 a)66— 1100 c)105§ d) 120
p )
CP= | O

- Sp s¢!

® a2 1

| | 19
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Shailseh bought a phone online and sold it
at a certain price. Had Shailesh increased its
selling price b ts profit would have

becom ind his actual profit
-

percent. el

AT TFEF W Giear T IR Fo

ARaT R A s ag aar ¥ | 3R @
ﬁ?ﬂrﬂ—uaﬁso% dTT ST aY 3HHT

quarz AT 81 STl | 3HRT adiaed
oATeT cri%rel?rm?r ffod |
a) 85% b) 80%

50% d) 90%




Y 28
AT
ce sp sp!
N
3 7 1 35

If SP becomes 5 times, the profit increases
by 700%. Find the initial profit %.

IR w7 Ao A fFa 9= T @
ST &, W 700% «¢ ST § ar
URTAS o1 % AT,

a) 125% 133.33%

c)75% d) 150%




A shopkeeper sells a product at some loss. If he
reduces the selling price of the product by 5
percent, his loss increases by 4 percent. At what
loss percent he sells his product?

P qHFEER FS AHAF W TH 379G
dudr 3| IS a8 3cug F T Ao A 5
yidera Y FHT F@T & A SHHT THA 4
yfoaerd 9 arar ¥ P dede W oag
YT 3c9TG A< 2

a) 40% b) 35 55.55% d)63.63%
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A man reduces the selling price of a fan
from Rs.1250 to Rs.1000, his loss increases
by 20%. The cost price of the fan is
TH AT TF @ A A gew @
$.1250 ¥ T ¥ 1000 FT T ¥,
3UST JHAE Tea § 20% ¢ SATAT g
qq & e qeT 8
a) Rs.2400 b) Rs.2450

Rs.2500 ¢)Rs.2350




|4 A man bought oranges at the rate of 8 for

|1 /5,7- Rs.34 and sold them at the rate of 12 for
CP-= /_3__)’7' 5f=/’-;f Rs.57. How many oranges should be sold to
/?L' Y earn a net profit of Rs.45?

UF SAEd 34F A 8 W T & & FN
| Fhear &, IR 57 H 12 AT @
Sp-cp= 19 _ '7.-,7?—;_!{ 9T &a1 &1 45 T HT AN FoT A &

2 forder X 99 F= =fge?
90 b) 100 c) 135 d) 150
Ysg
—— = 9o
Ja
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A person bought some articles at the rate of
_5__per rup% and the same number at the rate of
4 per rupeg. He mixed both the types and sold at
the rate of 9 for 2 rupees. In this business he
suffered a loss of Rs.3. The total number of
articles bought by him was

UF qiFd $T g3 I 5 T&J/FF A T
¥ @lier a91 3d+ @ €] 4 aEdFad H
e @ Tlell 389 gl YR & eI HI
frar R sk 3@ 2 T A oaeg A
q a9 ATl 59 ¥aug # 38 3 F A1 g
gSl ar 3W Fo fhael avqe Tl A2

a) 1090 4 1080

c) 540 d) 545

| | 25
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A merchant bought 200 eggs, out of which
38 are broken. He sold the remaining eggs at
the rate of Rs.4.80 per dozen and thus
gained 8%. The total investmentis®>C P

UF SATIHY 3 200 373 WA, foreTd @ 38
TC I gl 38 I §U IS F1 4.80
yfY goieT #Y &7 @ 991 3R 5 R 8%
HT ATH FATIT \g;»r(ﬁ-q‘w AT A

R

a) Rs.80 s.60
c) Rs.45 d) Rs.120
CPx 108 _sp
¥}
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The retail price of a water geyser is
Rs.1265. If the manufacturer gains
10%, the wholesale dealer gains 15%
and the retailer gains 25% then the
manufacturing cost of the product is:
frelt dex 1 gawr Ao 1265 ® B
IR IcaE I 10%, NF A
S 15% T S 25% T
WHEEl I § A1 FHH oA Hed
T g |

\#Rs.800 b) Rs.900

¢) Rs.700 d) Rs.600




Two shopkeeper Sourav and Jagdish sells similar products

. to their customer. Sourav calculates his profit percentage

_l_gs on the cost price_whereas Jagdish calculates his profit
CP X percentage on selling price. Sourav gets 25% profit and
s p33 B

Jagdish gets 37.5% profit on their products. If the selling
price of the products for both the shopkeeper are same
- and the difference between their profit i M then
J L2 g Yo find the cost price of the product for which Jagdish sells.
(25) QY gFeER Wi R ST ae e o
5 3c0le d9d §1 WRT T AT W HIS a7 gfaerd
mm%mﬁ:mﬁ’r&rﬁwnwmm
X2 0O gferd Ad T ¥ FRE HUT 3eUg W 25%
T &tar § 3R SerEer 3us 3cug W 37.5%
5000 anr HfSa Far ¥ 3k dei gEeeR & fav
_— 3caral & RwT 7ew wow ¢ AR 3aF anwr & i
FT AT 1400 ¥. §, af ORI @R A AT 3G

Co AT A AT |

s. 5000 b) Rs. 4200
c) Rs. 5450 d) Rs. 4350

| | 28




A man sells two articles for(Rs 1710 Jhe sells first

at 10% loss and second at 25% profit. Find the
| amount of overall profit. If the cost price of first

i ticle is equal to selling price of second article.

—~ article

10 9 TF e 1710 T & & 9@ I9ar §, g
>qua'aag10% JHAe W IR qEU AW
i
Hed

Je 25% T 9T d9dr | F AT H
S\j'o AT FfET IR GES d@ A A
Y gAY g A AT #Aew & T
a) 81 b)
c) 45 90




157 A = 25%

b

Y25

50

375

W%

soo—>1I25
300 —
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Abhi has two items A and B. When he sells
A at a loss of 15% and B at a profit of
25%, he has no loss or profit‘When he sells
A at a profit of 25% and B at a loss of 10%,
then he gains X114. What is the difference

between the selling prices of A and B in the
first case?

afira:trma’rawﬁAﬁrBﬁm
GART A ® 15% 31 gl W 3R B +
25% & o W 99 A W 34 HS

a)x80  b)X75  ¢)%90

| ICAR, 28 Feb 2022, S1 10
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A space research company wants to sell its two products
A and B. If the product A is sold at 20% loss and the
Al «VU7 l0ss

2,00 ..q5product B at 30% gain, the company will not lose

anything] If the product A is sold at 15% loss and the

200—1%0 product B at 15% gain, the company will lose Rs. 6
-5 million in the deal. What iithe cost of product B?

UF MANET HTHUNT FIFTT 39 & 3caral 4 3R
B F SU4T Ued § IfT 3G 4 FY 20% g W
4T 1T § 3R 3 B &Y 30% T 9 =T SArar
T ar FFw

a) Rs. 140 million b)
¢) Rs. 100 million

s. 120 million
s. 80 million

0

| | 31
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